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Answers

1. 11,344

2. 4,297

3. 8,150

4. 6,682

5. 13,315

6. 4,892

7. 10,505

8. 12,900

9. 11,381

10. 14,904

11. 8,426

12. 16,021

13. 8,205

14. 10,588

15. 5,955

16. 5,571

17. 10,492

18. 8,395

19. 5,162

20. 13,058

Solve each problem.

1) 9,295 + 2,049 = 11,344

2) 2,983 + 1,314 = 4,297

3) 5,076 + 3,074 = 8,150

4) 4,058 + 2,624 = 6,682

5) 8,158 + 5,157 = 13,315

6) 2,684 + 2,208 = 4,892

7) 7,278 + 3,227 = 10,505

8) 6,538 + 6,362 = 12,900

9) 9,888 + 1,493 = 11,381

10) 8,424 + 6,480 = 14,904

11) 5,523 + 2,903 = 8,426

12) 9,933 + 6,088 = 16,021

13) 4,503 + 3,702 = 8,205

14) 8,966 + 1,622 = 10,588

15) 3,395 + 2,560 = 5,955

16) 3,611 + 1,960 = 5,571

17) 7,762 + 2,730 = 10,492

18) 4,531 + 3,864 = 8,395

19) 3,584 + 1,578 = 5,162

20) 9,648 + 3,410 = 13,058
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Modified

Solve each problem.

16,021 12,900 11,344 8,426

6,682 8,150 10,505 4,297

11,381 4,892 14,904 13,315

1) 9,295 + 2,049 = 11,344

2) 2,983 + 1,314 = 4,297

3) 5,076 + 3,074 = 8,150

4) 4,058 + 2,624 = 6,682

5) 8,158 + 5,157 = 13,315

6) 2,684 + 2,208 = 4,892

7) 7,278 + 3,227 = 10,505

8) 6,538 + 6,362 = 12,900

9) 9,888 + 1,493 = 11,381

10) 8,424 + 6,480 = 14,904

11) 5,523 + 2,903 = 8,426

12) 9,933 + 6,088 = 16,021

Answers
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7. 10,505
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9. 11,381

10. 14,904

11. 8,426

12. 16,021

1-10 92 83 75 67 58 50 42 33 25 17
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